
c
a

c b

d a

W =  Design Water Head = Gate Height (LH)

Colour: RAL Nr.: _________

Frame:  V2A V4A

���� ����

Anchorage:

x HST-R M10x160/80

� Yes � No

Hinge Side:

� left � right

Material:

a) Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

b) Door: Aluminium – powder coated RAL Nr. to be specified

c) Fittings: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

d) Seal: EPDM



c
a

c

b

d c

Colour: RAL Nr.: _________

Frame:  V2A V4A

���� ����

Anchorage:

x HST-R M10x160/80

� Yes � No

Hinge Side:

� left � right

W =  Design Water Head = Gate Height (LH)

Material:

a) Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

b) Door: Aluminium – powder coated RAL Nr. to be specified

c) Fittings / Invert Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

d) Seal: EPDM



c ac
b

d a

Colour: RAL Nr.: _________

Frame:  V2A V4A

���� ����

Anchorage:

x HST-R M12x185/90

� Yes � No

Hinge Side:

� left � right

W =  Design Water Head = Gate Height (LH)

Material:

a) Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

b) Door: Aluminium – powder coated RAL Nr. to be specified

c) Fittings: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

d) Seal: EPDM



c ac
b

d c

Colour: RAL Nr.: _________

Frame:  V2A V4A

���� ����

Anchorage:

x HST-R M12x185/90

� Yes � No

Hinge Side:

� left � right

W =  Design Water Head = Gate Height (LH)

Material:

a) Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

b) Door: Aluminium – powder coated RAL Nr. to be specified

c) Fittings / Invert Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

d) Seal: EPDM



ca
c

b

d

Colour: RAL Nr.: _________

Frame:  V2A V4A

���� ����

c

Anchorage:

x HST-R M12x185/90

� Yes � No

W =  Design Water Head = Gate Height (LH)

Material:

a) Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

b) Door: Aluminium – powder coated RAL Nr. to be specified

c) Fittings / Invert Frame: V2A / V4A – Stainless Steel Grade SS 304 / SS 316L

d) Seal: EPDM


